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O zolgXel LA LY Ay, EHD
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s 9,828
HANALHME S 2SR 145,000 0 145,000
307 glz2+ol & 80,000 0 80,000
11T MISRASER 80,000 0 80,000
O BAAZAHE S ALY 2EXHA
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23,000,000& 23,000
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O BAHAZAHE LS IS 2 33,000,000& 33,000
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< 9,920
[ia 151,390
ERcIk-PNR.] 117,732 145,732 A 28,000
307 21201 A 117,732 145,732 A 28,000
03 QIAHMNHE2IHIEE 94,732 84,732 10,000
O Lolg(2Xs,sH2s XA
47,200,000& 14 47,200
O Losl(=2X3al) 29l XN 47,532,000& 47,532
11 ALS S RAEE = 23,000 61,000 38,000
O Lol Azsl X& 7,000,000& 7,000
O elisk& 16,000,000& *«1JH £ 16,000
LK SetALY XI&A 2,000 2,000 0
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11T M3 SXAISEEX 2,000 2,000 0
O el Xg setAte XI& 2,000,000& 2,000

_11_




fAM: Lelots
dM: Lol 2EX A
CHel: S OIALE 2 O KT (&)
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11T M3 SXASEEX 10,000 10,000 0
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ZAANE 22 199,950 249,950 A50,000
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101 @124l 30,000 30,000 0
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